K2 OFE

ENEE M Y7 P RERBIHBIE AL

BB MARRRSGSE NAY—DIL—8X

FFREBICRFNSES?) (HaEE] 46-511 1

E ' AN B S = = EENE =
R PRERDE BN 9:00~1300 |-
ll_ﬁ z~
H5E BlDE =0 .3-4K] 900<1300 | ==
Tyt HEUPTyHYE 37K 13:00~17:00|&&=1 - 2
28 OFHNEES F£1-3% 9.00~12.00 |&8&=5
ZI= ENEZIFETS $£1-31+ 13:00~17:00
— o~ EZP N 9:00~17:00
Ie=D=13 £3-4W 1300~1700 | ...,
P B=DR2M £1 3% 9.00~17:00 | T5%
=D $F2-4+ 13:00~21:00
f=D=41E F2 4% 9:00~17:00
ESERED) [PRCTFDE [51-3%K [ 900~14:00 [F0=
[T [9—2)u78 [548 [13:00~1 6:00] T==H
=26 Ea igg 13:00~17:00 |F0=
FOAER EDFBIDSO A BN el 9:00~13:00
Eeili SIS OS £1-2:3-4% | 13:00~17.00
DA —DFY—|FEZ2—HIVIA—DIIT T« Uy I|FE2- 4+ 13:00~17:00 .
e FE- 1S VEESIEE el 13:00~17:00 |FRRE=
= EFY Y H—2 BEWN 13:00~15:00
KIE7 KIE7-U- 9}'/%7@0’5‘5/\ %1 . SK 9:OON1SOO
F55 FOREDE =041 1 900~2100 BRE=
2R—\A& > 2chd £1.2.3-48 | 1300~17:00 [LDOU =3 V=)L
DT 2123 4N | 12001500 |BBE1 2
FEZA—NIIADIPIIZAY =D)L |E1:-2-:3-4F | 18300~17.00 [BZZEZ=T * 2
WED (OVR) ARYYZT—=D)U £1-2-3-48 | 11:00~13:00 et e
IPOEDZ |IANLY—DREZ-HY=D)L (HCC) [%1:2:3:48 | 900~11:00 LoUz—Yam—l
I IUIN=F v D2 BEK - & 13:00~15:00
) ANYYaD35T BEN 9:00~11:00
S HEK 1800~21:00
SKIST $£1-3% 17:00~20.00 ) o~ e
#0.4.5% | 1800~21:00 |[VZYUT—Y3YM—
1YT1PA |DLyyaD>5T BEN 14:00~17:00
e — ST v %1.2-3-41t | 1000~13:00
VU RS
NESYEY IEEC BES 15:00~17:00
EW) KUY =)L £1-2-3-4k | 11:00~13:00 [Eeg=x
— FEZ 21—V VABEREFS £1.2-3-48 | 900~11:00
B ABZENES AW 11:00~1300 || )2 — 5/ vyl
2Ly FIULwYa £1-2-3-4K | 1500~17:00
P 2 Uy FEIBET—D) £1-2-3-4K | 900~11:00
o e _ £1-2-3-4N | 1000~12:00 [&z=2
R #£1-2.3-4K | 11:00~1300|L2U -3 YR—l
[E==] EISEZEASES $£4H 13:00~17:00 |&&=3
£1K 16:00~18:00
%’1:‘2/_\ I st % 2 7_K 16.00~18.00 T
=y ANFRFHRES EO AN 1000~1300 A==
$3+ 19:00~21:00
RE5FE BFE+ VI )yyadIaTr—Y3VEBECC) [81:-2-3:-41 | 10.00~13.00 |&&E=4




